
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s ZOMAR TECHNOLOGIES PVT LTD, NO-16/18, GROUND FLOOR, Q-BLOCK, 17TH STREET,

ANNANAGAR WEST 17TH STREET, ANNA NAGAR WEST CHENNAI Tamil Nadu is registered at Ordnance Factory Board for
following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Ordnance Factory Tiruchirapalli SPACER SLEEVE TO DRG.No.2A42.04.001 (C4001)

DC.No.19157-W[70]

09-05-2023

2 REAR WASHER AS PER DRG NO K 2073 WITH

FIRMS MATERIAL[70]

09-05-2023

3 FRONT WASHER AS PER DRG NO K 2072 WITH

FIRMS MATERIAL[70]

09-05-2023

4 BLOCK HOUSING TO DRG No TEND 1888 FULLY

FINISHED CONDITION WITH FIRMS MATERIAL

FOR ICR 1302[70]

09-05-2023

5 CLAMP OP ASSEMBLE EXTRACTOR TO DRG NO

F 3871 BREECH BLOCK ASSEMBLY CES

ITEMS[70]

09-05-2023

6 WASHER SPRING BAND INNER TO DRG NO 29P

0067STAR required for 0POINT315 Sporting Rifle[70]

09-05-2023

7 WRENCH ADJUSTING FORESIGHT AND LOCK

NUT FORE SIGHT TO DRAWING NO R F I SK NO

1051 STR3 MODIFIED FOR RIFLE 7POINT62

mm1A1[70]

09-05-2023

8 SPACER[74] 09-05-2023

9 SPRING FLAT[74] 09-05-2023

10 WRENCH[74] 09-05-2023

11 SLIDER LINKS M9 WELDMENT[74] 09-05-2023

12 WASHER LOCK TAB M4[74] 09-05-2023

Page 1/6



13 BLOCK STORAGE WELDED[74] 09-05-2023

14 MAGAZINE BOX ASSY[74] 09-05-2023

15 INLET ASSY[74] 09-05-2023

16 ADAPTOR MAGAZINE[74] 09-05-2023

17 COVER BLIND FRONT FINISH[74] 09-05-2023

18 COVER BLIND POD FINISHED[74] 09-05-2023

19 RELEASE CAM ASSY[74] 09-05-2023

20 BOLT CENTERING[74] 09-05-2023

21 COVER BLIND BEARING[74] 09-05-2023

22 WASHER SPHERICAL[74] 09-05-2023

23 HOUSING STOPPER LEFT SIDE[74] 09-05-2023

24 INSERT M4 ALTERED ITEM[74] 09-05-2023

25 BOLT GEAR TRAVERSE[74] 09-05-2023

26 BELLEVILLE LEVER TRAVERSE[74] 09-05-2023

27 BASE STOP B[74] 09-05-2023

28 SCREW SPRING INTERFACE[74] 09-05-2023

29 COVER FRONT PEDESTAL[74] 09-05-2023

30 ARM COVER LEFT[74] 09-05-2023

31 ARM COVER RIGHT[74] 09-05-2023

32 BRACKET TOP COVER[74] 09-05-2023

33 BRACKET BASKET RIGHT WELD[74] 09-05-2023

34 BRACKET BASKET LEFT WELD[74] 09-05-2023

35 CASE DESICCANT[74] 09-05-2023

36 BOLT HOUSING[74] 01-06-2023

37 BUMPER ARM[74] 01-06-2023

38 BUMPER ARM LOCK[74] 01-06-2023

39 BLOCKING ELEMENT[74] 01-06-2023

40 BRACKET ASSY 1[74] 01-06-2023

41 SECTOR BACK COVER FNSH[74] 01-06-2023

Page 2/6



42 SECTOR FRONT COVER FNSH[74] 01-06-2023

43 ADAPTOR SPRING[74] 01-06-2023

44 LIMITER EXTERNAL[74] 01-06-2023

45 WASHER FLAT CRES M5 A4[74] 01-06-2023

46 SUPPORT ELEVATION DRIVE[74] 01-06-2023

47 BOLT GEAR ELEVATION[74] 01-06-2023

48 BRACKET ASSY2[74] 01-06-2023

49 SPACER OIL RETAINER[74] 01-06-2023

50 SUPPORT GEAR TRAVERSE[74] 01-06-2023

51 ANGLE LIMITER RIGHT[74] 01-06-2023

52 ANGLE LIMITER LEFT[74] 01-06-2023

53 BASE STOP A[74] 01-06-2023

54 COVER SHAFT ENCODER[74] 01-06-2023

55 KEY[74] 01-06-2023

56 STOPPER[74] 01-06-2023

57 NUT[74] 01-06-2023

58 WASHER SAFETY[74] 01-06-2023

59 WASHER ELASTOMER[74] 01-06-2023

60 HOUSING CONNECTOR[74] 01-06-2023

61 PISTON INNER[74] 01-06-2023

62 COVER MOTOR[74] 01-06-2023

63 SPACER ROTOR[74] 01-06-2023

64 CAP ASSY[74] 01-06-2023

65 COVER SOLENOID 1[74] 01-06-2023

66 NUT SOLENOID[74] 01-06-2023

67 SPINDLE ALTERED[74] 01-06-2023

68 SCREW M10[74] 01-06-2023

69 BRACKET[74] 01-06-2023

70 SCREW SHANK[74] 01-06-2023

Page 3/6



71 SCREW HEAD COCKING[74] 01-06-2023

72 GUIDE RECOIL REAR[74] 01-06-2023

73 BUSHING GUIDE FRONT[74] 01-06-2023

74 GUIDE RECOIL FRONT[74] 01-06-2023

75 BUSHING THREAD REAR[74] 01-06-2023

76 COVER SOLENOID 2[74] 01-06-2023

77 BASE LIMITER[74] 01-06-2023

78 ROD LIMITER[74] 01-06-2023

79 PLUG SPRING[74] 01-06-2023

80 BODY EXTERNAL WELDED[74] 01-06-2023

81 LEVER TRIGGER[74] 01-06-2023

82 KEY AS PER DRG NO 074811A 00[74] 01-06-2023

83 Shank Barrel Extension LH OOW50BMG as per Drg

No 6009728 of M2HB Gun[74]

02-06-2023

84 Slide Retracting OOW50BMG as per Drg No 6147893

of M2HB Gun[74]

02-06-2023

85 Latch Back Plate OOW50BMG as per Drg No

6008949 of M2HB Gun[74]

02-06-2023

86 Pawl Aligning Cartridge OOW50BMG as per Drg No

6008975 of M2HB Gun[74]

02-06-2023

87 Bracket Cover OOW50BMG as per Drg No 5152752

of M2HB Gun[74]

02-06-2023

88 Latch Cover OOW50BMG as per Drg No 6008928 of

M2HB Gun[74]

02-06-2023

89 Back Plate Latch OOW50BMG as per Drg No

11010453 of M2HB Gun[74]

02-06-2023

90 Plate Buffer OOW50BMG as per Drg No 5152869 of

M2HB Gun[74]

02-06-2023

91 Screw OOW50BMG as per Drg No 13018132 of

M2HB Gun[74]

02-06-2023

92 Switch Bolt OOW50BMG as per Drg No 5504062 of

M2HB Gun[74]

02-06-2023

93 Bracket Belt Holding Pawl LH OOW50BMG as per

Drg No 5504059 of M2HB Gun[74]

02-06-2023

Page 4/6



94 Cam Extractor OOW50BMG as per Drg No 5009373

of M2HB Gun[74]

02-06-2023

95 Bracket Belt Holding Pawl RH OOW50BMG as per

Drg No 6128730 of M2HB Gun[74]

02-06-2023

96 Cam Extractor Cover OOW50BMG as per Drg No

5564279 of M2HB Gun[74]

02-06-2023

97 Bracket Bolt Latch OOW50BMG as per Drg No

5504061 of M2HB Gun[74]

02-06-2023

98 Arm Belt Feed Pawl OOW50BMG as per Drg No

6008914 of M2HB Gun[74]

02-06-2023

99 Extractor OOW50BMG as per Drg No 5504065 of

M2HB Gun[74]

02-06-2023

100 Slide Sear OOW50BMG as per Drg No 5351220 of

M2HB Gun[74]

02-06-2023

101 Sear OOW50BMG as per Drg No 5504067 of M2HB

Gun[74]

02-06-2023

102 Ejector Small Arms Cartridge LH OOW50BMG as per

Drg No 6009732 of M2HB Gun[74]

02-06-2023

103 Lever Cocking OOW50BMG as per Drg No 6009718

of M2HB Gun[74]

02-06-2023

 

Registration No. : CHEZ03664D

Initial Date of Registration : 09-05-2023

Downloaded at : 26/04/2025 10:53 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

Page 5/6



NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 6/6

http://www.tcpdf.org

